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Q1 (a) Sketch the graph of y = Vx — 3. Hence, determine the domain and range of the

equation
(3 marks)
(b) Sketch the graph of the following function:
1) y = 3cos 2x
(2 marks)
() y= 4sin;x
(2 marks)

(c) Let f(x) = 2x+3and g(x) = —x%+ 1.Find f o g (x) and g o f (x). Hence, find

fog(2)andg-f(0)
(8 marks)
(d (i)  Find the inverse of f(x) = (x — 2)3
(2 marks)
(i)  Show that g(x) = ﬁ is the inverse of f(x) =5+ %
(3 marks)
Q2 (a) Compute the limits of the following functions:
) lirrol Vx+4
(2 marks)
x? =25
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@y Gmet =4
x>0 X
(3 marks)
: . Nt+9-3
@iv)  lim
t—0 t
(4 marks)
: ? -1
\% lim}|—————
) Hs\/zﬁ +1? —t+4
(3 marks)
x*-1, x<0
(b) Sketch the graph of f(x)=< x-1, 0<x<3
12-x*, x2>3
Hence determine whether f(x) is continuousat x=0 and x=3
(6 marks)
Q3
(a) Find % for the following function
(1) y=x"cosx
(3 marks)
G y=22
X +x
(3 marks)
(i) x’-y*=x+2 e e
| A (3 marks)
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(b) Given that y = (x*> +2x)(2x+3),find y',y andy"
(5 marks)

(c) The radius of a circle is increasing at the rate of 5cm per minute. Find

6] the rate of change for the area of the circle when its radius is 12cm
(4 marks)

(ii)  the radius of the circle when its area is increasing at a rate of 50m cm? per

minute
(2 marks)
Q4 (a) Find
x*+3x* -7
M ( : jdx
X
(3 marks)
)
@) e+ 2+ 3)ax
1
(3 marks)
(b) Solve j4x(2x2 - 3)6dx by using integration by substitution method
(4 marks)
(c) Solve sz In xdx by using integration by parts method
(4 marks)

8 CONFIDENTIAL



CONFIDENTIAL

BBM 10403

(d) Question 4(d) is based on figure Q4(d). Find the area bounded by the curve
y=x>—-4x+4andthe line y=x

Figure Q4(d)

Q5 (a) Solve the following:
(i) It is given an arithmetic progressionis 5,7, 9, .......... , 87. Find the number of

terms of this progression.

(3 marks)
(ii) The first three terms of an arithmetic progression are 34, k, h+2
i.  Express k in terms of A.
(1 marks)
ii.  Find the 10™ term of progression in term of .
(2 marks)

(iii) The sum of the first  terms of a progression is given by S, =3n* —28n. Find

1. the common difference

(1 marks)

A A T LA A

ii.  the sixth term S ——

(2 marks)
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(i) It is given that (x+4),(x—2)and (x—4)are the three consecutive terms of a

geometric progression.

i.  Find the integer value of x.
(2 marks)

ii.  Hence, calculate the sum to infinity of the progression if (x —2)is its fourth
term.

(2 marks)
- th . . . " 2 n+l "
(i) The n™ term of a geometric progression, T, is given by 7,,= (5) . Find
i.  the common ratio
(2 marks)
ii.  the sum to infinity of the progression.
(2 marks)

(c) Smile Florist sold 200 roses on the first week of 2016. After that, the number
roses sold decreased by 8 stalks a week until the 5™ week. On the 6™week, the
florist decided to have a sale and the number of roses sold increased by 100%

compared to the week before.
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Calculate the number of roses that was sold in the six weeks.
(3 marks)
-END OF QUESTIONS-
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